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ideal model

In [1]: import math
import numpy as np

In [20]: xb=float(0)
a=float(xb)

for data in range(1,11):
xb+=0_1
a=xb
print( activity: ' .round(a,?))

activity:
activity:
activity:
activity:
activity:
activity:
activity:
activity:
activity:
activity:

Ll o= e Ry e B an. B . Bl e By e Y . By i
O W O~ DU WRN) —

regular model

In [3]: xb=float{0)
a=f |oat (xb)
r=8.314
t=1273
alpha=—14888

for data in range(i,11):
xb+=0.1
a=xb=np.explalphax(1-xb)==2/{r=t))
print{‘activity:', round(a,4))

activity: 0,032
activity: 0.0813
activity. 0.1506
activity: 0.2411
activity: 0.3518
activity: 0.4791
activity: 0.6168
activity: 0.7562
activity: 00,8874
activity: 1.0

subregular model

In [71: xb=0

LO=- 16663

L1=2159

for data in range(1.11):

xb+=0.1

a=xb*np.exp(((LO+(1-2%xb)*L1) (1 xb)**242xL1* {1 xh)*xh**2) /(r=t))
print( activity: ,round(a,4))

activity: 0.032
activity: 0.08

activity: 0.1481
activity: 0.2395
activity: 0.355
activity: 0.4914
activity: 0.6403
activity: 0.7876
activity: 0.9142
activity: 1.0
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6. The followings are binary phase diagrams among three elements A, B, C, with melting point
of 1000, 1200 and 800K, respectively. Based on binary phase diagrams, sketch isothermal
sections of the A-B-C ternary phase diagram at 900, 700 and 400K. (20)
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